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BACHELOR'S DEGREE PROGRAMME 
00 

Term-End Examination 

O December, 2013 

(APPLICATION ORIENTED COURSE) 

AMK-1 : MARKETING 

Time : 2 hours 	 Maximum Marks : 50 
Weightage : 70% 

Note : Attempt both part A and part B. 

PART-A 

Attempt both the questions. 	 5+5 

1. 	Distinguish between any two of the following : 

(a) Consumer and customer 

(b) Family branding and individual branding 

(c) Cash discount and Quantity discount 

(d) Functional middlemen and merchant 
middlemen 

2. 	Write short notes on any two of the following : 5+5 

(a) Outdoor advertising 

(b) Direct marketing 

(c) Break-even analysis 

(d) Consumer buying process 
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PART-B 

Attempt any three of the following : 

3. "Compared with consumer markets, 10 

organisational markets have distinctive features 

and pose different challenges to the marketers". 

Discuss. 

4. State the steps involved in the new product 

development and explain them briefly. 	2+8 

5. Describe different strategies for pricing a new 

product. State the conditions under which each 

of them is suitable. 	 5+5 

6. What do you mean by physical distribution ? What 3+7 

are the objectives of an efficient physical 

distribution. 

7. What factors do you take into account 10 

while deciding about the promotion mix for your 

product ? Explain them briefly. 

8. (a) "Publicity always has positive impact on the 5+5 

company sales." Comment. 

(b) Briefly explain the factors influencing 

consumer behaviour. 

AMK-1 	 2 



qsiel : 2 gu2 
	

37-NWUTT 37.T : 50 

35c' T1 : 70% 

7)F: toes 31 30 0(/.5 V q)/ . 7ffrie dTH q vNi 

glil 	i k-il. -k dtlttf--A-4 I 

1. 	F-1 4-irri 	rod -4 -4 fwt t -4 31-- 7 Tcrtz -1-r--4 : 	5+5 

(a) 311 	IT AT ?T -- 

(b) LiIrtaIRch .et'T AT 3707-3-1-01T (individual) 

-tr-trr 
(c) lcbq le. at 11f71:1711 le. 

(d) chi chR TrUTT-2,1 3* ffri-R1-  "Taff2T 

2. 	F-P-irciroct 14 f-*--'tut  Tffk-i-  -ild -r -ft:r7 : 	5+5 

(a) 71f-4-0T1:Ti (Outdoor advertising) 

(b) ctf V f4.97-9.  

(c) 7114 	fr4 a 	Clqui 

(d) 371.1)-IT shi SLIT 

AMK-1 	 3 	 P.T.O. 



P-14-irortAd 11 f%t 9141;17q 31-11 trA4 I 

3. "31:1 	r  	vii 	(4,t(3-tici-tch cit,AR ch To 
	

10 

 	ati-T 4114-110-Ich 

chlf 	fc i 	c.11 1" .24 Rsql 

4. '1 7ezn-q fq-*-TT1 -14 	 -clkul -4-dq-4 3 	2+8 

39--*1 TA-17f ogRal 	I wIr44 I 

5. tch .14 	 ffftthur m1 1a If4?Pit d7-4 I 5+5 

trig oqRsii 'Wl"rf-A-4 fq-9-4 44ffT67cRiqu 

6. l̀ed-W fq-d717 3T 	TrIT f ? Bch 	r-d--  3+7 

.1-4-ffm - zrr3-0-4 -g? 

7. 3 	30-1Iq 	4cItti fl4NITE 	49174a. 	rcvi 
	

10 

3TP:r f 	fir urr9. 	? z9-4-  4NTR:r ciRsqr 

8. (a) " 	fqw:f "TT 	Trka 	 5+5 

3111-fq 	tl" FcI11-11 -1f-4R I 

(b) 3-cf**-1T 	ch 

-EffkT71 ocfRair wlfA4 

AMK-1 	 4 


	Page 1
	Page 2
	Page 3
	Page 4

